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QUESTION 1

Which two statements are true about Oracle Access Manager 11g data sources? 

A. A system Store is optional. 

B. Embedded LDAP is configured as the default User Identity Store for Oracle Access Management. 

C. Only one User Identity Store can and must be designated as the System Store. 

D. You can define as many User Identity Stores as the System Store. 

E. A system Store contains policy data, including password management data. 

Correct Answer: BC 

 

QUESTION 2

What would you need to configure to use Oracle Adaptive Access Manager (OAAM) along with Mobile Single Sign-On,
by using Oracle Access Management Mobile services? 

A. An appropriate security handler plug-in name needs to be configured for the Mobile Service domain to use OAAM. 

B. An authentication scheme needs to be configured for the Mobile Service domain to reflect OAAM use. 

C. A separate application profile needs to be created for OAAM. 

D. The Mobile Service domain needs to specify a configuration for OAAM. 

Correct Answer: B 

 

QUESTION 3

Which three statements are true about Oracle Entitlements Server? 

A. It enables you to externalize fine-grained authorization from applications. 

B. It uses a centralized Policy Decision Point (PDP) that all Policy Enforcement Points (PEPs) communicate with. 

C. It can use either a centralized PDP or a localized PDP. 

D. It has an out-of-the-box integration with Oracle Adaptive Access Manager. 

E. Auditing is not enabled by default within the security modules. 

Correct Answer: ABE 

 

QUESTION 4
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Identify two settings in the Authentication Scheme definition of Oracle Access Manager 11g. 

A. Authentication Password 

B. Challenge Method 

C. Authentication Level 

D. Error Message 

E. Authentication Id 

Correct Answer: BD 

 

QUESTION 5

How would you add support for additional Internet Identity Providers for Oracle Access Management Mobile and Social,
other than the preconfigured ones such as Facebook and LinkedIn? (Choose the best answer.) 

A. You do this by implementing theoracle.security.idaas.rp.spi.ServiceproviderJava interface. 

B. Support for Internet Identity Providers is limited to the ones that are available out of the box from Oracle Access
Management. 

C. Support for Internet Identity Providers is enabled through the connectors built on the Identity Connector Framework
(ICF). 

D. You do this by implementing theoracle.security.idaas.rp.spi.IdentityProviderJava interface. 

Correct Answer: D 
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